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CE 278 Structural Analysis

Tutorial (5)

Plane Truss Analysis
Method of Sections (MOS)



Example (1): Using the method of sections, determine the force in
members CD, HD, and HG of the truss shown.
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40 kN

(GH x4)+(45x4)=0

GH =—-45kN

(45x8)+(—40x4)+(—DCx4)=0

DC =50kN

(45x4)+(_Dcx4)+£-DHLx4j:o
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(45x4)+(-sox4)+[_DHLx4j:o
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DH =-7.07kN
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Porcs ()

CD 50 T
HD -7.07 C
HG -45 C




Example (2): Using the method of sections, determine the force in
members BC, GC, and GF of the truss shown.
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(~BCx2.6)+(—6.67x3)=0 [BC =-7.69kN

(GFx2.6)+(6x1.5)+(-6.67x4.5)=0
GF =-8.08kN

(—BC><2.6)+(—GC—><3j
+(6%3)+(-6.67x6)=0
(—(—7.69)x2.6)+(—GC%x3j

0

+(6>< 3) +(—6.67 X 6)
GC =-0.77kN




Forcs ()

BC -7.69 C
GF -8.08 C
GC -0.77 C

6 kN

8 kN



Example (3): Using the method of sections, determine the force in
members IH, ID, and CD of the truss shown.
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dM,=0  (HIx2)+(-1.5x4)+(-3x2)=0
HI =6kN

> M, =0 [—DC%XZJ+[—DC%><2)+
(—3><2)+(—3><4)+(—1.5><6)= 0
DC =-10.06kN

d M, = —D]%XZJ—{—DI%X4)+

(3x4)+(3x2)=0
DI =4.24kN
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Forcs ()
HI 6 T

DI 4.24 T
DC -10.06 C




Questions?
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